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There are six friends A, B, C, D, E and F in a building
starting from ground floor number 1 to top floor number
6. Only one friend lives on each floor. F lives on a prime
number floor. A does not live on an odd numbered floor.
B does not live on the 1st number floor. There are only
two floors between E and F. E lives on the floor which is
Immediately above the D’s floor. F does not live on an
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There are six friends A, B, C, D, E and F in a building
starting from ground floor number 1 to top floor number
6. Only one friend lives on each floor. F lives on a prime
number floor. A does not live on an odd numbered floor.
B does not live on the 1st number floor. There are only
two floors between E and F. E lives on the floor which is
Immediately above the D’s floor. F does not live on an
odd numbered floor.

How many floors are there between F and A?

O01l. Two

02. Three

03. One

04. None

05. None of these



There are six friends A, B, C, D, E and F in a building
starting from ground floor number 1 to top floor number
6. Only one friend lives on each floor. F lives on a prime
number floor. A does not live on an odd numbered floor.
B does not live on the 1st number floor. There are only
two floors between E and F. E lives on the floor which is
Immediately above the D’s floor. F does not live on an
odd numbered floor.

Which friend lives on 5th floor?
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There are six friends A, B, C, D, E and F in a building
starting from ground floor number 1 to top floor number
6. Only one friend lives on each floor. F lives on a prime
number floor. A does not live on an odd numbered floor.
B does not live on the 1st number floor. There are only
two floors between E and F. E lives on the floor which is
Immediately above the D’s floor. F does not live on an
odd numbered floor.

Which of the following friends, live on an even number
floor?

CBF

CBE

DBE

ADF

None of these
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Eight persons A, B, C, D, E, F, Gand H living on an eight
floor building, ground floor is numbered 1 and topmost
floor iIs number 8. F is not living on second floor. F does
not live on odd floor. B and C do not live on third floor. E
lives immediately below that floor on which H lives.
There are only two floors between the floor of Aand B. A
IS living exactly between the floor of D and C. G lives on
topmost floor. A lives on an even numbered floor. E lives
on sixth floor.
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Eight persons A, B, C, D, E, F, Gand H living on an eight
floor building, ground floor is numbered 1 and topmost
floor iIs number 8. F is not living on second floor. F does
not live on odd floor. B and C do not live on third floor. E
lives immediately below that floor on which H lives.
There are only two floors between the floor of Aand B. A
IS living exactly between the floor of D and C. G lives on
topmost floor. A lives on an even numbered floor. E lives
on sixth floor.

How many persons are living between the floor of H and
A?

1. None

2. 3

3. 4

4. 5

5. None of these




Eight persons A, B, C, D, E, F, Gand H living on an eight
floor building, ground floor is numbered 1 and topmost
floor iIs number 8. F is not living on second floor. F does
not live on odd floor. B and C do not live on third floor. E
lives immediately below that floor on which H lives.
There are only two floors between the floor of Aand B. A
IS living exactly between the floor of D and C. G lives on
topmost floor. A lives on an even numbered floor. E lives
on sixth floor.

Who lives on 4th floor?
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Eight persons A, B, C, D, E, F, Gand H living on an eight
floor building, ground floor is numbered 1 and topmost
floor iIs number 8. F is not living on second floor. F does
not live on odd floor. B and C do not live on third floor. E
lives immediately below that floor on which H lives.
There are only two floors between the floor of Aand B. A
IS living exactly between the floor of D and C. G lives on
topmost floor. A lives on an even numbered floor. E lives
on sixth floor.

Four of the following five are alike in a certain way based
on their seating positions and so form a group. Which of
the following is different from the group?
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Eight persons A, B, C, D, E, F, Gand H living on an eight
floor building, ground floor is numbered 1 and topmost
floor iIs number 8. F is not living on second floor. F does
not live on odd floor. B and C do not live on third floor. E
lives immediately below that floor on which H lives.
There are only two floors between the floor of Aand B. A
IS living exactly between the floor of D and C. G lives on
topmost floor. A lives on an even numbered floor. E lives
on sixth floor.

Who lives on floor 7?

H
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Seven lectures K, J, I, H, G, F, and E are to be delivered
from Monday to Sunday, lecture every day. There should
be a gap of two days between the lectures J and F.
Lecture | cannot be delivered on Friday. Lecture K is
delivered immediately after lecture H. Lecture F is
delivered on the next day of Lecture E. Lecture G is
delivered on Wednesday and it is not immediately
preceded and followed by lecture F. Lecture E is not
delivered before I.
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Seven lectures K, J, |, H, G, F, and E are to be delivered
from Monday to Sunday, lecture every day. There should
be a gap of two days between the lectures J and F.
Lecture | cannot be delivered on Friday. Lecture K is
delivered immediately after lecture H. Lecture F is
delivered on the next day of Lecture E. Lecture G is
delivered on Wednesday and it is not immediately
preceded and followed by lecture F. Lecture E is not
delivered before I.

How many lectures are delivered between E and G?
None

One

Two

Three

None of these
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Seven lectures K, J, |, H, G, F, and E are to be delivered
from Monday to Sunday, lecture every day. There should
be a gap of two days between the lectures J and F.
Lecture | cannot be delivered on Friday. Lecture K is
delivered immediately after lecture H. Lecture F is
delivered on the next day of Lecture E. Lecture G is
delivered on Wednesday and it is not immediately
preceded and followed by lecture F. Lecture E is not
delivered before I.

Which lecture will be delivered on Saturday?

(=

2. J

3. H

4. K

5. None of these



Seven lectures K, J, |, H, G, F, and E are to be delivered
from Monday to Sunday, lecture every day. There should
be a gap of two days between the lectures J and F.
Lecture | cannot be delivered on Friday. Lecture K is
delivered immediately after lecture H. Lecture F is
delivered on the next day of Lecture E. Lecture G is
delivered on Wednesday and it is not immediately
preceded and followed by lecture F. Lecture E is not
delivered before I.

Which of the following lecture is not delivered after J?
1. H

2. F

3. G

4. K

5. None of these



Six friends A, C, E, G, |, and K are going for watching the movie on
six different days Monday, Tuesday, Wednesday, Friday, Saturday
and Sunday for six different movies The Tiranga, Saugandh,
Highway, Chori Chori, Raj2 and The king. But not necessarily in the
same order. A and E are going for the movie on continuous days.
The Tiranga movie is not watched on Tuesday. The movie Chori
Chori is not watched on Sunday or Tuesday. G goes on Wednesday
and watch the movie Highway. | went on Saturday for the movie
Raj2. C goes for the movie The King. K goes for a movie on Sunday.
E does not watch the Chori- Chori movie.
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Six friends A, C, E, G, |, and K are going for watching the movie on
six different days Monday, Tuesday, Wednesday, Friday, Saturday
and Sunday for six different movies The Tiranga, Saugandh,
Highway, Chori Chori, Raj2 and The king. But not necessarily in the
same order. A and E are going for the movie on continuous days.
The Tiranga movie is not watched on Tuesday. The movie Chori
Chori is not watched on Sunday or Tuesday. G goes on Wednesday
and watch the movie Highway. | went on Saturday for the movie
Raj2. C goes for the movie The King. K goes for a movie on Sunday.
E does not watch the Chori- Chori movie.

Four of the following five alike in a certain way and hence form a
group. Which one of the following does not belong to the group?

Monday E
Wednesday C
Saturday K
Tuesday E
Friday |
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Six friends A, C, E, G, |, and K are going for watching the movie on
six different days Monday, Tuesday, Wednesday, Friday, Saturday
and Sunday for six different movies The Tiranga, Saugandh,
Highway, Chori Chori, Raj2 and The king. But not necessarily in the
same order. A and E are going for the movie on continuous days.
The Tiranga movie is not watched on Tuesday. The movie Chori
Chori is not watched on Sunday or Tuesday. G goes on Wednesday
and watch the movie Highway. | went on Saturday for the movie
Raj2. C goes for the movie The King. K goes for a movie on Sunday.
E does not watch the Chori- Chori movie.

How many persons go to watch movie between E and K?
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Six friends A, C, E, G, |, and K are going for watching the movie on
six different days Monday, Tuesday, Wednesday, Friday, Saturday
and Sunday for six different movies The Tiranga, Saugandh,
Highway, Chori Chori, Raj2 and The king. But not necessarily in the
same order. A and E are going for the movie on continuous days.
The Tiranga movie is not watched on Tuesday. The movie Chori
Chori is not watched on Sunday or Tuesday. G goes on Wednesday
and watch the movie Highway. | went on Saturday for the movie
Raj2. C goes for the movie The King. K goes for a movie on Sunday.
E does not watch the Chori- Chori movie.

On which day A goes movie?

1. Monday

2. Wednesday

3. Sunday

4. Can't be determined

5. Either Wednesday or Friday



Six friends A, C, E, G, |, and K are going for watching the movie on
six different days Monday, Tuesday, Wednesday, Friday, Saturday
and Sunday for six different movies The Tiranga, Saugandh,
Highway, Chori Chori, Raj2 and The king. But not necessarily in the
same order. A and E are going for the movie on continuous days.
The Tiranga movie is not watched on Tuesday. The movie Chori
Chori is not watched on Sunday or Tuesday. G goes on Wednesday
and watch the movie Highway. | went on Saturday for the movie
Raj2. C goes for the movie The King. K goes for a movie on Sunday.
E does not watch the Chori- Chori movie.

On which day Chori-Chori Movie is watched?

1. Wednesday

2. Saturday

3. Sunday

4. Monday

5. Either Wednesday or Sunday



Seven boxes A, B, C, D, E, F and G are kept one above the other like
a stack. Each of these boxes contains different number of Toys
among 4, 5, 6, 7, 8, 9 and 10. The bottommost box is numbered 1 and
the topmost box is numbered 7. Boxes with prime number of Toys
are adjacent to each other. G is two boxes above the box with 7
Toys. C is immediately above the box with 5 Toys. F is immediately
above B. D has 8 Toys. A is three boxes above G. B has one Toy
more than E, which is box 1. F has more Toys than G, which has
more Toys than A.
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Seven boxes A, B, C, D, E, F and G are kept one above the other like
a stack. Each of these boxes contains different number of Toys
among 4, 5, 6, 7, 8, 9 and 10. The bottommost box is numbered 1 and
the topmost box is numbered 7. Boxes with prime number of Toys
are adjacent to each other. G is two boxes above the box with 7
Toys. C is immediately above the box with 5 Toys. F is immediately
above B. D has 8 Toys. A is three boxes above G. B has one Toy
more than E, which is box 1. F has more Toys than G, which has
more Toys than A.



Seven boxes A, B, C, D, E, F and G are kept one above the other like
a stack. Each of these boxes contains different number of Toys
among 4, 5, 6, 7, 8, 9 and 10. The bottommost box is numbered 1 and
the topmost box is numbered 7. Boxes with prime number of Toys
are adjacent to each other. G is two boxes above the box with 7
Toys. C is immediately above the box with 5 Toys. F is immediately
above B. D has 8 Toys. A is three boxes above G. B has one Toy
more than E, which is box 1. F has more Toys than G, which has
more Toys than A.

Which box is immediately below the box with 4 Toys?

1
2.
3.
4
5

Z0O0OTnw

one of the above



Seven boxes A, B, C, D, E, F and G are kept one above the other like
a stack. Each of these boxes contains different number of Toys
among 4, 5, 6, 7, 8, 9 and 10. The bottommost box is numbered 1 and
the topmost box is numbered 7. Boxes with prime number of Toys
are adjacent to each other. G is two boxes above the box with 7
Toys. C is immediately above the box with 5 Toys. F is immediately
above B. D has 8 Toys. A is three boxes above G. B has one Toy
more than E, which is box 1. F has more Toys than G, which has
more Toys than A.

How many boxes are above D?

1. Four

2. Two

3. One

4. Three

5. None of the above



Seven boxes A, B, C, D, E, F and G are kept one above the other like
a stack. Each of these boxes contains different number of Toys
among 4, 5, 6, 7, 8, 9 and 10. The bottommost box is numbered 1 and
the topmost box is numbered 7. Boxes with prime number of Toys
are adjacent to each other. G is two boxes above the box with 7
Toys. C is immediately above the box with 5 Toys. F is immediately
above B. D has 8 Toys. A is three boxes above G. B has one Toy
more than E, which is box 1. F has more Toys than G, which has
more Toys than A.

G contains ___ Toys.
1. 6
2. 7
3. 8
4. 9
5. N

one of the above



Seven boxes A, B, C, D, E, F and G are kept one above the other like
a stack. Each of these boxes contains different number of Toys
among 4, 5, 6, 7, 8, 9 and 10. The bottommost box is numbered 1 and
the topmost box is numbered 7. Boxes with prime number of Toys
are adjacent to each other. G is two boxes above the box with 7
Toys. C is immediately above the box with 5 Toys. F is immediately
above B. D has 8 Toys. A is three boxes above G. B has one Toy
more than E, which is box 1. F has more Toys than G, which has
more Toys than A.

On which stack box E is
1. 4
2. 2
3. 7
4. 3
5 N

one of the above



In a shop, 7 boxes of different fruits are kept. They are — Mango,
Banana, Grapes, Pineapple, Watermelon, Papaya and Cherry. Each
box has a number written on it from 1 to 7 but not necessarily in the
same order. These boxes are arranged in a stack in ascending order
with the lowest numbered box at the top. The number of boxes
above Mango box is same as the number of boxes below the
Watermelon box. Papaya is in box number 5. There are as many
boxes above grapes as below it. Only three boxes are there in
between Pineapple and Cherry. Banana is kept below Mango.
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In a shop, 7 boxes of different fruits are kept. They are — Mango,
Banana, Grapes, Pineapple, Watermelon, Papaya and Cherry. Each
box has a number written on it from 1 to 7 but not necessarily in the
same order. These boxes are arranged in a stack in ascending order
with the lowest numbered box at the top. The number of boxes
above Mango box is same as the number of boxes below the
Watermelon box. Papaya is in box number 5. There are as many
boxes above grapes as below it. Only three boxes are there in
between Pineapple and Cherry. Banana is kept below Mango.
Choose the correct statement.

Cherry is kept in box 2.

Banana is kept below Grapes.

There is no box in between Mango and Watermelon.
There is only two box below Papaya.

None of these.
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In a shop, 7 boxes of different fruits are kept. They are — Mango,
Banana, Grapes, Pineapple, Watermelon, Papaya and Cherry. Each
box has a number written on it from 1 to 7 but not necessarily in the
same order. These boxes are arranged in a stack in ascending order
with the lowest numbered box at the top. The number of boxes
above Mango box is same as the number of boxes below the
Watermelon box. Papaya is in box number 5. There are as many
boxes above grapes as below it. Only three boxes are there in
between Pineapple and Cherry. Banana is kept below Mango.
Choose the odd one out.

1) Banana

2) Grapes

3) Papaya

4) Mango

5) Watermelon



In a shop, 7 boxes of different fruits are kept. They are — Mango,
Banana, Grapes, Pineapple, Watermelon, Papaya and Cherry. Each
box has a number written on it from 1 to 7 but not necessarily in the
same order. These boxes are arranged in a stack in ascending order
with the lowest numbered box at the top. The number of boxes
above Mango box is same as the number of boxes below the
Watermelon box. Papaya is in box number 5. There are as many
boxes above grapes as below it. Only three boxes are there in
between Pineapple and Cherry. Banana is kept below Mango.

How many boxes are there in between Cherry and Mango, if the box
kept below pineapple is watermelon?

Banana
Grapes
Papaya
Mango
Watermelon
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